R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1553\D. RWBC Drawings\1.17. 11NEW\TX-4114.dwg, TX-4114

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

OPAQUE FIBERGLASS SINGLE DOOR
INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Plastpro Fiberglass Door described herein complies with the 2006 International Residential Code
(IRC), Sections R301 & R4613 and the 2006 International Building Code (IBC), Sections 1405.12, 1609,
1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base material
shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required to be protected
with an impact resistant covering that complies with Section R301.2.1.2 of the IRC and Section
1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design pressure rating
shown in the design pressure chart, sheet 1 of this drawing.

4, Conditions not covered by this drawing are subject to further engineering analysis.

SUPPORTING DOCUMENTS & EVIDENCE

1. Testing per AAMA/WDMA/CSA 101/1.5.2/A440-05 & ASTM E 330-02:

ETC Laboratories test report #: ETC-08-209-21639.0, ETC-10-209-24641.0 & ETC-10-209-23677.1.

2. Calculafions (Anchoring) prepared by Lyndon F. Schmidt, P.E.

3. Certificate of Participation issued by the National Accreditation and Management Institute, Inc.,
certifying that Plastpro is manufacturing producis within a Quality Assurance program.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
1 Typical elevation, design pressures, & general nofes
Door panel details
Horizontal cross sections
Vertical cross sections
Buck and frame anchoring
Bill of materials & components

(= RS, 0 o) KPR )

37.50" MAX. OVERALL

FRAME WIDTH

82.00" OVERALL FRAME HEIGHT - INSWING
80.50" OVERALL FRAME HEIGHT - OUTSWING

INSWING

37.50'
X
82.00"

+70.0

-70.0

a
%

Ay
-

AR
OF

OUTSWING

37.50"
X
80.50"

+70.0

-70.0

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

n
L
=%
s
o B3
S o
=) 8¢
o sop = L)
3:_%3’.‘. E‘:O
! ok
olal 2
i Fo
To|e 2
= [ o (-_-.)UD)
3 S| &0
o] = t"""
(=] 14 EE
4 <
o o
&
%]
=
=}
%]
ol
o
=
S
o
Z
oate: 1/17/11
SCALE: N.T.S.
DWC. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4114

SHEET _ ] OF _6_

© 201171 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1553\D. RWBC Drawings\1.17. 11INEW\TX-4114.dwg, 2.1

. DOOR PANEL
Plastpro

Fiberglass

JIPC-RuLLLi
o S0
-l o7 - 28— ;}}j =
5O PG
LT s I TR, Ny S 3%;{’* wid ¥
h a a 4 , 4." .,,.- . :v.. :'L.' L 11\‘-{1‘\.\:\3
- fie o I r: i A4 B s ‘A . T ; ¢
/ / TOP RAIL
INTERIOR T (COMP.)
CAPIPYC]  LNGESTILE (L) LATCH STILE (LVL) AP (PVO) T ‘
/ 1"\ HORIZONTAL CROSS SECTION MR
W 3;'-_': :
p s LS
.o ?-F' ] > E\'
R
35.75" DOOR R
WIDTH AL A0
L NCMN
‘D e
| KNOB: SIGNATURE SERIES Ty
KWIKSET .
ha DEADBOLT: SIGNATURE SERIES (780) E70.0 e 7
£ KNOB: "F" SERIES (F10) INTERIOR EXTERIOR
i T 5 SCHLAGE | LEVER: "F" SERIES (F10) +45.0 -45.0
oD
_ DEADBOLT: "B" SERIES (B60/62) /i
J 3 SCHLAGE | HANDLE SETW/DEADBOLT: "F" SERIES (F60) | +45.0 | -45.0 | FOAMCORE — [l “/f-
= (POLYURETHANE - L ¥
o 1.9 PCF MIN.) i
T AT
S © S
O @ 4?' a
o "l" o
FIBERGLASS SKIN A S
(0.075" MIN, THK.]\ . oY »
SEE HARDWARE TABLE MLl
- L
BOTTOM RAIL— || g & &t o5
(COMP.) _”rL |

/" 2"\ VERTICAL CROSS SECTION

"2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Vairico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Preparaed By

Phone No.:

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
DOOR PANEL DETAILS

PRODUCT:

NOJ| DATE

REVISIONS

owe: 1/17/11

scAalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
T™X—4114

SHEET 2 OF 6

© 201711 R.W. BUILDING CONSULTANTS INGC.



‘ON| SANYLINSNOD aNIiaing "m's L 140z @

Zg8li—d # NOLVHISIOZY 4O 3LVOLdLLNID v SNOISIAZY STV TON

SYHIIANIONZ TYNOISS3J0ud 4O CuvOE SvX3L SNOLLDIS SSOYI TVINOZINOH m vl x A._.m <+ 5_
LELE'6S9'ELB FON @uoud 2 =Pl Sl
S6SES "4 OOWIPA 0£Z xo@ ‘O'd g@. AJRPSSY 50 1l =l = ¥ |°
"ONI 'SLNVLINSNOO ONIGTING d00d SSY19d34ld NN 3_
"ONI 04dLSY1d - Blklg ~ i

"3'd Swxal o) 5 | |2
.m..nn_N_....a..._w___wﬁ_uw n._n._ uopuiT] :Ag pedodeld sjuewinao( 119Naoxd -AD.. W m M m M

::.u:.:.mm_.w.g o

£ L¥OL )
 LAIWHOS 3 NOaNAT 2

/ EXT. SHEATHING

\;_’,/ Inswing shown - outswing also approved

/"2 "\ HORIZONTAL CROSS SECTION

EXTERIOR
S

S

O
7

0.15"
C'SINK

=~

w Inswing shown - outswing also approved

71"\ HORIZONTAL CROSS SECTION

ot SHEATH.N67 ?@T -

b
A
\4/

q
(3N
N4,/

T°E 'BMPHTTH-XL\MANTT ZT T\sBuimelq 2amy “a\ESST J4d\009T - 1051 foid\si=p|od Pafoid\siaafoid - v\



‘ON| SLNVLINSNDD aNIagiing

‘M oL0g

v

DRYWALL \ :

)
INTERIOR

71"\ VERTICAL CROSS SECTION

w Inswing shown

INTERIOR

ZS8ll—d # NOILVMLSIOZM 40 ILvOIdILy3D Y SNOISIAGY STV TON
SYUIIANIONT IVNOISSIH408d 40 Juv0oB SVX3IL SNOLLO3S SSOHD TWILLYIA m @ lKu m <+ ...O_
L6LE'6S9'ELE ON ®uoyd : P dJl T
GBSEE "4 O9MIPA OCZ Xog 'O'd \H\w@. KNGS 30 1ovd & = a8 % il
"ONI 'SINVLINSNOD ONIGTING i I B 4_
400d SSYi1ad4dld . m|&|g = .
CZLPOLF "T'd SwxAL 04d1SYid i m g m B
‘I'd 9PIMYSS °d uopul] g pelpdeld spuewnsog 110Naoyd A E (]
(s
Q
o
L
—
s (®
- =
Q 2
T O
= ....._
2 5 K 2
5 = %
i & E 3 2
L -~ &lc
& = |3
e=af]
A vy
\ / ol _ g|€
== 5 LN e
YF—F—r
R — x o e |0
~ 9 ® =
B w b = |=r
HE Z
= =\4
[ 3o
2ls
[
o ozl o
O =3
. (2%
. z
= ANIS.D
M S0
>
(274
a
QO
=
=
& =
: " o
__._V\Iu = v_z_m.o @) K
WS10 H N
><
\ / “ w ]
> : ﬂ .
e e S S S—r d— S— LM
o o <
Ulo
®) H,m
2™ > Eig
L =
= f >|c
) 13

T4 ‘BMPHTTH-XL\MANTT 2T T\sBuImMelg Jamy "a\eSST 4d\009T - TOST [0ad\s1ap|o4 10af01d\s3a3(04d - v\




R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1553\D. RWBC Drawings\1.17.11INEW\TX-4114.dwg, 5.1

SEE HINGE

iDE[AIL 1

8.44" FROM
TOP OF FRAME

SEE HINGE

DETAIL 2

CONCRETE ANCHOR NOTES:

3N.19"0E

(TYP.)

HINGE JAMB

2X FRAMING TO BE DESIGNED BY
THE ENGINEER OR ARCHITECT OF
RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)
WOOD (5.G. >= 0.42)

A1

\

[

HEAD AND
= JAMB (TYP.)

o CONCRETE

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted fo maintain the min. edge
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

'ANCHOR [ ANCHOR | MIN..
TYPE- - spE
Imw /4" 1-1/4" 2.1/2" ”
ELCO 1/4" e - .
1w 3/14" 1-1/4" I e

FRAME ANCHORING

LATCH & DEADBOLT DETAIL

[~ 3"

o
E
=
~0
-
1
<
< .
=J
T 8o
tE =
(=)
~0
i
7
//

39.06"

5.50"

STRIKE JAMB

N

B

N
/4

HINGE DETAIL 1

/|

29

AT ui
ST R
Rt Ao L e 0
~ JF-".'-'%"' 29 w  E8
R AT E% g 4o
: ‘ % [T < 9 -
o Do T O W Om o
S L e a2 z !
A FIES ! 1 gk u
a % - Lo b~ %
iy Lt c e =
2,0 s °2 zZ 9 22
A o oW 2060 35
s - c-r gcwo 2
?!; i '-%'- | dgu 0k
05 B e >0 ig
‘!I]_I‘}##’t_’ . 5%5 50
T & oo FR
v 035z "
o Zm, Ok
[=] (o]
] 9 .8 a
o —00 7w
2 Roh <k
o og
s =
P S 5
3 S
o
o
w
=
S
ol &
S
Z5 2
) |
2l =
Q_E—’ §
= Jm
m%a (g
SLI-IU) )
omja =
o o =<
04
2 198
ol &=
o EX:
>
m
%)
zZ
o
n
o
J/
(29) 5
(D— i
|~ =
ile 24 S
= >
ﬁ o oate: 1,/17/11
scale:  N.T.S.
DWG. BY: JK
/ CHK. BY: LFS
[/ DRAWING NO.:
HINGE DETAIL 2 X—4114

SHEET 5 oF 6

© 2011 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1553\D. RWBC Drawings\1.17.11NEW\TX-4114.dwg, 6.1

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 2X HEADER FRAMING SG >=0.42 WOOD
B 2X BUCK §G >=0.55 WOQOD
C 1/4" MAX. SHIM SPACE -
L #10 X 2-1/2" PFH WOOD SCREW STEEL
K #10 X 3" PFH WOOD SCREW STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 POLY FIBER JAMB COMP.
2 WOOD JAMB (FINGER JOINTED PINE) WOOD
7 FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
8 SWEEP VINYL
10 INSWING THRESHOLD ALUM/COMP
18 OUTSWING THRESHOLD ALUM/COMP
23 #8 x 1-1/2" PFH WOOD SCREW STEEL
24 #9 x 3/4" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE (SECURITY STRIKE) STEEL
29 4 X 4 HINGE STEEL
40 DOOR PANEL =

.:\':
=
_\:.‘_‘\.}.\."\.’!.1-1 3
L w i Ny N
S E IO E & I‘\
,':u"“‘:)u‘ T T, Y a
i) [ L
FaXT 1S
S IFD e
P st & A
P P0im oL
T ioiny W
SO PM il 22X
.. : ‘o s =z
o iZi- K8
v, 3 3 N
"‘:”:’:""“- ED S -"' 2
eezip‘;..._f)z_ 3 -",:;\ff(
TR,

SRR

0.75"
[

r* 456 ————=
b e—oar 213 =
@ POLY FIBER JAMB

| |

4.56"

75"

-I 2“

WOOD JAMB

W

‘]3”4.

!" 5.625"

10 INSWING THRESHOLD

By PLASTPRO

7k
}

( : )WEATHERST RIP

DYV E— J

5.62"

18 OUTSWING THRESHOLD

By Endura

W
Lo
o 0
2o '3
E - n l
Ex o |
5 Bz
O i 0w )
a2 on 0§
L .2 m
LL'"
6 Eo"! ;
U L (A
£~ gzt O
> Jdg© 0
2>k A
0 - E
£8% &
W [
@ ONO. o
o %éz T
) Zmge O
g_ 9 .g o
f 2k %
y = o
2
i
=
[
B =
0
fal

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC.
FIBERGLASS DOOR
PART _OR_ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

REVISIONS

NOJ DATE

oate: 1/17/11

scALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4114

SHEET _6 oF _6

© 2011 R.W. BUILDING CONSULTANTS INC.



